72)Braindump) o0

Fist Try, FirstRuss| Braindump2go Guarantee All Exams 100% Pass

One Time!
» Vendor: Cisco

» Exam Code: 300-410

> Exam Name: Implementing Cisco Enterprise Advanced Routing and
Services (ENARSI)

> New Updated Questions from Braindump2go (Updated in June/2022)

Visit Braindump2go and Download Full Version 300-410 Exam Dumps

QUESTION 351
Refer to the exhibit. TCP traffic should be reaching host 10.10.10.10/24 via R2.
Which action resolves the issue?

Rlftconfig t

Rllconfig) #ip access-list extended UDP-ACL

Rl (config-ext-nacl) fpermit udp any any

Rl (config-ext-nacl) fexit

Rl (config) froute-map VIA-R2 permit 10

Rl (config-route-map) fmatch ip address UDP-ACL
Gi 01 Rl (config-route-map) fset ip next-hop 10.10.11.2
Rl (config-route-map) fexit

Rl iconfig) #interface Gi0/1

Rl (config-1if)#ip policy route-map VIA-R2

Rl (config-if)fend

R1¢

10.10.10.0/24

10.10.10.10/24

TCP traffic will reach the destination via R2 without any changes

Add a permit 20 statement in the route map to allow TCP traffic

Allow TCP in the access list with no changes to the route map

Set IP next-hop to 10.10.12.2 under the route-map permit 10 to allow TCP traffic.

oo ®»

Answer: C

QUESTION 352

A network administrator must optimize the segment size of the TCP packet on the DMVPN IPsec protected tunnel
interface, which carries application traffic from the head office to a designated branch. The TCP segment size must not
overwhelm the MTU of the outbound link.

Which configuration must be applied to the router to improve the application performance?
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interface tunnel30

ip mtu 1400

ip tep packet-size 1360

!

crypto ipsec fragmentation after-encryption

interface tunnel30

ip mtu 1400

ip tcp payload-size 1360
!

crypto ipsec fragmentation before-encryption

interface tunnel30

ip mtu 1400

ip tcp adjust-mss 1360

!

crypto ipsec fragmentation after-encryption

I interface tunnei30
ip mtu 1400
ip tcp max-segment 1360
!
crypto ipsec fragmentation before-encryption

A. Option A
B. Option B
C. OptionC
D. Option D
Answer: C

QUESTION 353
Refer to the exhibit. After configuring OSPF in R1, some external destinations in the network became unreachable.
Which action resolves the issue?

i1t show ip cospf database self-originate

OSEF Robbter|/widh' ¥ (10.255.255.1) (Process ID 1)

Router Link States (Area 0)

Link 1D ADV Router Age Seqé Chackaum
Link count
10.255.2585.1 10.255.2858.1 1 0x800003BD (x001ADS

3

Swmmary Net Link States (Area 0)

Link 1D ADV Router Age Seqt Checksum
10.0.34.¢ 10.255.286.1 3604 OxB0000380] PxMORIET
10,255.255.4 10,255,255.1 3604 0xB00003BY” DAV 62

Type-5 AS External Link Staten

Link 1D ADV Router Age Seqs Checksum
Tag

0.0.0.0 10,255,255.1 3604 0x800001D0 (x001CAC
0

*Fab 22 22:50:39,523: VOSEFSANFLOOD WAR: Process 1 flushes LSA
ID 0.0.0.0 type-5 adv-rtr 10,255.255.1 in area 0
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Clear the OSPF process on R1 to flush stale LSAs sent by other routers.

Change the R1 router ID from 10.255.255.1 to a unique value and clear the process.
Increase the SPF delay interval on R1 to synchronize routes.

Disconnect the router with the OSPF router ID 0.0.0.0 from the network.

00>

Answer: B

QUESTION 354
What is the function of BFD?

A. It provides uniform failure detection regardless of media type.

B. It creates high CPU utilization on hardware deployments.

C. It negotiates to the highest version if the neighbor version differs.
D. It provides uniform failure detection on the same media type.
Answer: A

QUESTION 355

Refer to the exhibit.A network engineer must establish communication between three different customer sites with
these requirements:

Site-A: must be restricted to access to any users at Site-B or Site-C.

Site-B and Site-C must be able to communicate between sites and share routes using OSPF.

HUB Site

OSPF Domain

10.0.0.0/30
10.0.0.8730

10.0.0.430

ems  eed -een)

Site-A Site-8 Site-C
192.168.0.0/24 192.168.1.0/24 182.168.2.0/24

PE interface configuration:
interface FastEthernet0/0
ip vri forwarding Site-A

|

interface FastEthernet0/1
ip vrf forwarding SharedSites
!

interface FastEthernet0/2
ip vri forwarding SharedSites

Which configuration meets the requirements?
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PE(config)#router ospf 10 vrf Site-A
PE(config-router)j#network 0.0.0.0 255.255.255.255 area 0
PE(config)#router ospf 10 vrf SharedSites
PE(config-router)#¥network 0.0.0.0 255.255.255.255 area 1

PE(config)#router ospf 10 vrf Site-A
PE(config-router}#network 0.0.0.0 255.255.255.255 area 0
PE(config)#router ospf 10 vrf SharedSites
PE(config-router #network 0.0.0.0 255.255.255.255 area 0

PE(config)#router ospf 10 vrf Site-A
PE(config-router)#network 0.0.0.0 255.255.255.255 area 0
PE(config#router ospf 20 vrf SharedSites
PE(config-router)#network 0.0.0.0 255.255.255.255 area 0

PE(config)#router ospf 10 vrf Site-A
PE(config-router)#network 0.0.0.0 255.255.255.255 area 0
PE(config)#router ospf 20 vrf SharedSites
PE(config-router #network 0.0.0.0 255.255.255.255 area 1

Option A
Option B
Option C
Option D

Cow>»

Answer: C

QUESTION 356

Refer to the exhibit. Sitel must perform unequal cost load balancing toward the segments behind Site2 and Site3.
Some of the routes are getting load balanced but others are not.

Which configuration allows Sitel to load balance toward all the LAN segments of the remote routers?
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s 192.168.4.024
2168 W waeanon I
¢ 20 Mopa 2
& —o- o &
L2
192168 12 024 152168 13.024
§ Mops 10 Mo
EIGRP 100
» )
1921685024
1921886024

Site1 - Show ip route
Gatowary of inst resort 1 not sot

162 9681024 is vaﬁu@p“’.‘smm 2 masks
T 192168 1024 I drechytirinbina; LooptiackD
L 192 168 1 1732 5 dwecty Qttr el L oogbara)
D 152 168 3 024 (SO/ZR1600] vea 152 168 11 2, 00 00 23, EthernetQ 0
D 192 168.4 0724 [S0r281600) van 152 168 11 2, 00 00 23, Emenetl D
D 192 168 5 0724 |906E5800] vwn 192 168 12 3 00 00 23, Ethernet'
{S0MIS200) via 192,168 11 2, 00 00 23 EtheenetD0
D 152 168 6 0724 [S0665600) vwa 152 168 12 3, 00 00 23, EmemetD
[BOMISZ00] vin 192 168 11 2. 00 00 23, Ethernetd)
192 168 11.0/24 s vartablv subnetied, 2 suboets, 2 masks
192 168 11 024 s airectly connocted, EhemetOn)
L 192 168 11 1732 18 duecty connected, Ethemetd 0

(S -

~

1]
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Site1 ~ Show Ip eigrp topology

P 192 168 3 024 1 successors. FD s 220400

via 192.168.11.2 (281600/128256), EthemetDD

via 192 168 12 3 (891200204800), EthernetON
P 192 168 12024 1 successors, FD s 537600

vis Connecled. Ethernet/1
P 192.168.13.024, 2 successors, FD s 307200

via 192 168 12 3 (563200/7GE00), EthernatO’t

via 192 168 11 .2 (307200128 1600), EthemotDD
P 152 168 1 024 1 siceessors FD s 128256

via Connected, Loapbackd
P 192168 6 024, 2 successors, FD s 435200

via 192 168 12 3 (665600128256, EthometD

via 192 168 11 2 (435200/409600), Etermel0
P 192 168 4 024 1 successors. FD s 230400

via 192 168 11.2 (281600/128256), EthemetD 0

via 192,168 12 3 (691200/204800), Ethemetl/1
P 192 168 5 024 2 successors. FD s 435200

via 192 168 123 (665600/128256), EthemetO/

via 192 168 11 2 (4352004 09600), EthemetO0
P 192,168 11.024. 1 successors, FD s 153600

via Connected Etherma0

Site1 - Show run | section router oigrp
routes earo 100
varance 2
network 192 168 1.0
notwork 192 1682 0
network 192 168 110
notwork 192 168 120

D 192 168 13024 [S0/563200] via 192 168 12 3, 0000 23, Ethemnetd't
SOS07200I RaNB268 11 .2, 00 00 23, EthemotD0

oo w»

Site2

router eigrp 100
variance 3

Site2

router eigrp 100
variance 2

Site3

router eigrp 100
variance 2

Site1

router eigrp 100
variance 3

Option A
Option B
Option C
Option D

Answer: D

QUESTION 357
300-410 Exam Dumps 300-410 Exam Questions 300-410 PDF Dumps 300-410 VCE Dumps

https://www.braindump2go.com/300-410.html



https://www.braindump2go.com/
https://www.braindump2go.com/
https://www.braindump2go.com/300-410.html
https://www.braindump2go.com/300-410.html
https://www.braindump2go.com/300-410.html
https://www.braindump2go.com/300-410.html
https://www.braindump2go.com/300-410.html
https://www.braindump2go.com/
https://www.braindump2go.com/

\Braindump Q1)

Fist Try, Fistuss! Braindump2go Guarantee All Exams 100% Pass
' One Time!

Refer to the exhibit. An engineer implemented an access list on R1 to allow anyone to Telnet except R2 LoopbackO0 to
R1 Loopback4.
How must sequence 20 be replaced on the R1 access list to resolve the issue?

Rl:
interface Loopbackl
no ip address
ipvé address 100A:0:100C::1/64
ipvé enable
ipvé ospf 10 area 0
!

interface Loopbackd

no ip address

ipvé address 400A:0:400C::1/64
ipvEé enable

ipvé ospf 10 area 0

!

intarface Seriall/0

no ip address

ipvé addresa ABOL:2011:7:100::/64 eui-64
ipvé enable

ipvé osp?f natwork point-to-point

ipvé ospf 10 area 0

ipvé traffic-filter DENY TELNET lLod in
sorial restart-delay 0 -
clock rata 64000

|

ipvé router ospf 10

routar-id 1.1.1.1
loq-ldjlun:y~chmqu

xpvc access-list DENY TRINET LO4

R2:
interface Loopback0d
no ip address
ipvé address 1001 :ABC:2011:7::1/64
ipvé enable
ipvé ospf 10 area 0
|}

intarface Seriall/0

no ip address

ipvé address ABQ1:2011:7:100::/64 sui-64
ipvé enable

ipvé osp? network point-to<potnt

ipvé ospf 10 area 0

serial restart-delay 0

'

ipvé router ospf 10

router-id 2.2.2.2

log-adjacency-changes
)
end

uqum 20 deny tcp  host 100:ABC:2011:7 host 400A:0:400C: ;1 ag telnet pernit ipvé any any

Rl:
interface Leopbackl
no ip address
ipvé address 100A:0:100C::1/64
ipvé enable
ipvé ospf 10 area 0
!

interface Loopbackd
no 1o address

APVe OSpPI 4V Arfea V
1

Ainterface Seriall/o

no ip asdaress

ipv6 address ABO1:2011:7:100}//64 Was-64
ipvé enable

ipvé ocapf network point-to-point

ipvé oapf 10 area 0

ipvé traffic-filter DENY TELNET Lod in
sarial restart-delay 0

clock rate 64000

'

ipvé router cspf 10

routar-id 1.1.1.1
loq-.djluncywh.nqan

apvt access-list DENY TELNET LO4

R2:
interface Loopbackd
no ip address
ipvé address 1001 :ABC:2011:7::1/64
ipvé enable
ipvé ospf 10 area 0
'

intarface Seriall/0

no ip address

LPVe OSPI NALWOIR POLNC-TO“point
ipvé cspf 10 area 0O

sarial restart-dalay 0

'

ipvé router ocapf 10
router-1d 2.2.2.2
log-adjaceancy-changes
'

and

sequance 20 deny tcp " host 100:ABC:2011:7 homt 400A:0:400C::1 oq talnet permit ipvh Koy any

and

1pvé access-list DENY TRINET LO4

uqunu 20 deny tcp  host 100:ABC:2011:7 host 400A:0:400C: ;1 ag telnet permit ipvé any any
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sequence 20 permit icp host 1001:ABC:2011:7::1 host 400A:0:400C::1 eq telnet
sequence 20 deny tcp host 400A:0:400C::1 host 1001:ABC:2011:7::1 eq teinet
sequence 20 deny tcp host 1001:ABC:2011:7::1 host 400A:0:400C::1 eq telnet

sequence 20 permit tcp host 400A:0:400C::1 host 1001:ABC:2011:751 #q talnet

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
QUESTION 358

An engineer notices that R1 does not hold enough log messages to Identity the root cause during troubleshooting.
Which command resolves this issue?

#logging buffered 4096 critical
(config#logging buffered 16000 informational
#logging buffered 16000 critical

(config ¥logging buffered 4096 informational
Option A

Option B

Option C
Option D

00>

Answer: B

QUESTION 359
Refer to the Exhibit. R1 and R2 use IGP protocol to route traffic between AS 100 and AS 200 despite being configured

to use BGP.
Which action resolves the issue and ensures the use of BGP?
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2222

E e 102010030

10.10 10 0,30

10.10 20 V30 10 40 10 0730
R24 R1#
router eigrp 100 router eigrp 100
network 10.10.10.0 0.0.0:3 network 10.10.10.0 0.0.0.3
netwoxk 10.20.10.0 0.0.0.3 network 10.10,20.0 0.0.0.3

! network 1.1.1.1 0.0.0.0
router ospf 100 !

netvork 10.10.10.0 0.0.0.3 area 0 router ospf 100

network 10.20.10.0 0.0.0.3 area 0 network 10.10.10.0 0.0.0.3 area 0

' network 10.10.20.0 0.0.0.3 area 0

! '

! router bgp 200

router bgp 100 distance 100 10.10,10.0 0.0.0.3
distance 100 10.20.10.0 0.0.0.3 distance 100 10.20,10.0 0.0;0.3
distance 100 10.10.10.0 0.0.0.3 neighbor 2.2.2.2 remote-as 100 '
neighbor 1.1.1.1 remote-as 200 neighbor 10.10.10,2 remote-as 100
neighbor 10.10.10.1 remote-as 200 network 10,.10.10.0 mask 255 .255.255.252

network 10.20.10.0 mask 255.255.255.252 network 10.20.10.0 mask 255.255.255.252

Configure distance to 100 under the EIGRP process of R1 and R2.
Remove distance commands under BGP AS 100 and AS 200.
Remove distance commands under BGP AS 100.

Configure distance to 100 under the OSPF process of R1 and R2

o0w»

Answer: B

QUESTION 360
Refer to the exhibit. An engineer is trying to connect to R1 via Telnet with no success.
Which configuration resolves the issue?

TACACS usens
ULE’ . DIpIT0
oif M\ /1 Y SiMeaacehos ol -
IK 102.2.1/2¢
| m—
—
Rl TACACS Server
10221.10.11

Ripdebug tacacs
TACACS access control debugging i on
"Nov 16 20:41 59 229 TPLUS: Queung AAA Authorization reguest 15 for processing
*Nov 16 20:41$9 225" TRLUSIO000000F ) login Simidr started 1020 sec timeout
"Nov 16 2041 59229 TPLUS: processng authorastion request i 15
*Nov 16 20.41 59 229 TPLUS: Protocol et 1o None  Skipping
“Nov 16 2004159 229 TRLUS: Sending AV servicesshell RiMelnet 10222
*Nov 16 20:41 59,229 TPLUS; Sending AV cmd* Trying 102.2.1 . Open
*Nov 162004 158 229: TPLUS Agthofigitth reqbest created for 15{crco)
*Nov 16 20:41:59.229: TPLUS: Using stwpe 10222, 10.10 Urername: papacisco
*Nov 16 20:41:55.229: TRLUS{0000000F 1/0: Connect Error No route to host Pastword

% Authentication faded

- —

User Acoess Verification
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tacacs server prod
address ipv4 10.221.10.10
exit

#/ip route 10.221.10.10 255.255.255.255 ethernet 0/1
tacacs server prod

address ipv4 10.221.10.11
axit

ip route 10.221,0,11 255.255.255.255 ethernet 0/1

Option A
Option B
Option C
Option D

o0w»

Answer: B

QUESTION 361

One Time!

Refer to the exhibit. An engineer must configure PBR on R1 to reach to 10.2.2.0/24 via R3 AS64513 as the primary
path and a backup route through default route via R2 AS64513. All BGP routes are in the routing table of R1, but a

static default route overrides BGP routes.
Which PBR configuration achieves the objective?

AS84512
10.1.1.024

Detault Route LA YREE LAV &5

ASE4515

:I 10.2.2.0/24
> _\ R B4
v
\’ ‘/‘
AS64513 'R nd
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access-list 100 permit ip 10.1.1.0 0.0.0.255 10.2.2.0 0.0.0.255
1

route-map PBR permit 10" .~

match ip address 100

sel '8 next-hop 10.3.3.1

access-list 100 permit ip 10.1.1.0 0.0.0.255 10.2.2.0 0.0.0.255
|

route-map PBR permit 10

match ip address 100

set ip next-hop recursive 10.3.3.1

access-list 100 permit ip 10.1.1.0 255.255.255.0 10.2.2.0 255.255.255.0
!

route-map PBER permit 10

match ip address 100

set ip next-hop recursive 10.3.3.1

access-list 100 permit ip 10.1.1.0 255.255.255.0 10.2.2.0 255.255.255.0
!

route-map PBR permit 10

match ip address 100

set ip next-hop 10.3.3.1

Option A
Option B
Option C
Option D

o0 ®»

Answer: B

QUESTION 362
Refer to the exhibit. An administrator configured a Cisco router for TACACS authentication, but the router is using the
local enable password instead. Which action resolves the issue?

Confguration Quiput.

433 new-model

833 Qroup Server tacacs+ aomin
sefrver name admin

|
ip tacacs source-interface GigabitEthemnet!

aaa authentication login agmin group tacacs+ local enable
#2aa session-id common

|
1acacs server aomin

adaress ip 1011156

key 7 01150F 165E1C070320
|
inevty0 4

login authentication admin

Debug Output:

Oct 22 12:38.57 587 AAA/BIND(0000001A): Bind vt

Oct 22 12:38:57 587 AAAVAUTHENALOGIN (0000001A) Pick method st ‘admin’

Oct 22 12:38 57 587. AAAJAYTHE NENABLE(0000001A) Processing request action LOGIN
Oct 22 12,38 57 587 AKNAUTHENENABLE(0000001A) Done status GET_PASSWORD
Oct 22 12:39 02,327 AAWAUTHENENABLE(0000001A) Processing request action LOGIN
Oct 22 12:39.02.327 AANAUTHEN/ENABLE(0000001A) Done status FAIL - bad password
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. Configure the aaa authentication login admin group admin local enable command instead.

Configure the aaa authentication login admin group tacacs+ local enable none command instead.

Configure the aaa authentication login admin group tacacs+ local if-authenticated command instead.

Configure the aaa authentication login default group admin local if-authenticated command instead.

Option A
Option B
Option C
Option D

o0 w>

Answer: C

QUESTION 363

Refer to the exhibit. An engineer configured BGP and wants to select the path from 10.77.255.57 as the best path
instead of current best path. Which action resolves the issue?

Routergshow 1p bgp vpavd rd 11001001 1030 116 023
BGP routing table entry fof 1) !Qv’w-uom:.mxrm
Pams (9 avalable. bost #8ho Ny @ 8
Advertised 10 update-groups o 1L
1 2 3
(65001 64055 65003) 65089, (Received from 3 RR-chent)
172 16 254 226 (matric 20845) from 172 16 224 236 (172 16 224 236)
Ongin IGP, metnc 0, locaiprel 100, vald. confed-internal
Extended Community RT 1100 1001
mpls labels in‘out nolabel/ 382
(85008 64055 £5003) 65089
172 18 294 226 (metnc 2064%) from 10131 12371 (10 131 123.71)

Ongin IGP. metnc 0, locaipref 100, vald,
Extended Commundy RT 1100 100} B ) 1[\,|1 S
mots (abets m/out nolabel 382

(65001 64955 65003) 65006
172 16 254 226 (metic 208435) from 172 18 216253 (172 18216 25))
Ongin IGP. metnc 0, locaipre! 100 valid  confed-exiemnl
Extended Communty RT 1100 1001
mpls labels n‘out notabel362
(65001 64655 65003) 65089
172 16 254 226 (metne 20845) from 172 16 216 252 (172 16 216 252)
Ongn IGP. metnc 0, locaipre! 100 vald confed-exiemal
Extended Commundy RT 1100 1001
mpts Labels in'out nolabel/ 362
(64955 65003) 65089
172 16 254 226 (metric 20845) from 10 77 255 57 (10.77 255 57)
Orngn IGP. metyic 0, dtm conted-extemal
Extended Community | R ﬁ
mmwm‘i
(64955 65003) 65089
172 16 254 226 (metric 20645) rom 10 57 255 11 (1057 255.11)
Ongm IGP. matnc 0 locaipre! 100 vakd, confed-axtemal. best
Extended Community RT 1100 1001
mpls labels n‘out nolabel352

g Rl

)'Jll‘

(64955 65001) 65089 —
172.18.254 226 (metic 20048) ibeh 112 1B 224 253 (172 18224 253)
Origin 1GP, metnc 0, locaipret 1 M
Extended Commungy RT wa
mpls ladels miout nolabel/362
(65003) 65089
172 16 254 226 (metnc 20845) from 172 16 254 234 (172 16 254 234)
Ongin IGP, metnc 0, locaipre! 100, vald. confed-external
Extended Communty’ RT 1100 1001
mpls labels m'out notadel/362

65089, (Recerved tom a RR-chent)

172 16 228 226 (metic 20645) rom 17216228 \na‘yﬁ)
Origin IGP_ matnc 0, locaipie! 100, vahd .
Extended Commundy RT 1100 1001 05 £ 0 15t
mpis ladels miout nolabel278
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One Time!

A. Configure AS_PATH prepend for the desired best path

B. Configure higher MED to select as the best path.

C. Configure lower LOCAL_PREF to select as the best path.
D. Configure AS_PATH prepend for the current best path

Answer: D

QUESTION 364
What is LDP label binding?

neighboring router with label

source prefix with label

destination prefix with label

two routers with label distribution session

00>

Answer: C

QUESTION 365
Which table is used to map the packets in an MPLS LSP that exit from the same interface, via the same next hop, and

have the same queuing policies?

RIB

FEC
LDP
CEF

00>

Answer: B

QUESTION 366

Refer to the exhibit. The IT router has been configured with the Science VRF and the interfaces have been assigned to
the VRF.

Which set of configurations advertises Science-1 and Science-2 routes using EIGRPAS 1117
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10.1.1.0/24 190.1.2.0/24

192.168.1.0/24 192.168.2.0/24

192.168.1.0/24 192.168.2.0/24

P Someen 1 P Someen
10.1.1.9/24 10.1.2.90/2:

vrf definition Science
address-family ipvd

Interface E 0/2

Vrf forwarding Science

Ip address 192.168.1.1 255,255.255.0
No shut

!

Interface E 0/3

Vrf forwarding Science

!

Interface E 0/3

Vrf forwarding Science

Ip address 192.168.2.1 255.255.255.0

No shut
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router sigrp 111 i

address-family ipvd Vrf Scierice autonomous-system 1
network 192.168.1.0

natwork 192.168.2.0

router eigrp 111

address-family ipv4 vif Science
network 192.168.1.0

network 192.168.2.0

router eigrp 111
network 192,168.1.0
network 192.168.2.0

router eigrp 1

address-family ipvd vrf Science autonomous-system 111
network 192,168.1.0

network 192.168.2.0

Option A
Option B
Option C
Option D

o0 ®»

Answer: D

QUESTION 367

One Time!

Refer to the exhibit. When an FTP client attempts to use passive FTP to connect to the FTP server, the file transfers fail

Which action resolves the issue?

Network A IPV-6 Rauter Network B

Gio0 ﬁGIOI 1

[

FTP Server FTP Client
2001:0db8: 1 2001:00b8:8000:1

interface GigabitEthernet(/0
description FTP SERVER

no ip address

ipvé address 2001:DBB::¥/33

ipvEé enable

ipve traffic-filter FTP-SERVER in
'

interface GigabitEthernet(/1
descnp»xon FTP CLIENT

ne ip address;

ipvé address 200;»056; 000 :¥/33
ipvé enable B

ipvé traffic-filter P“P-«.L"EN’I‘ in

ipvé access-list FTP-CLIENT
permit tcp host 2001:DB8:8000::1 host 2001:DB8::1 eg ftp
permit tcp host 2001:DB8:8000::1 host 2001:DB8::1 eg ftp-data
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[ S N
8
o
w
)
[
o
"
oo

<
=)
]

0
B
il o

ftp established
ftp-data establighed

m

-
o
ot

Configure active FTP traffic.

Modify FTP-SERVER access list to remove established at the end.
Modify traffic filter FTP-SERVER in to the outbound direction.
Configure to permit TCP ports higher than 1023.

o0

Answer: D

QUESTION 368
In a DMVPN network, the Spokel user observed that the voice traffic is coming to Spoke2 users via the hub router.
Which command is required on both spoke routers to communicate directly to one another?

A. ip nhrp map dynamic
B. ip nhrp shortcut

C. ip nhrp nhs multicast
D. ip nhrp redirect
Answer: B

QUESTION 369
Refer to the exhibit. The network administrator configured the network to establish connectivity between all devices and
notices that the ASBRs do not have routes for each other. Which set of configurations resolves this issue?

e0/1 e0/2
10.1.1.0/24 " 10.1.3.0/24
10.1.2.0/24
(-3)
(1) e0/0
™
(WA FE
o
ASBR3
ASBR1 e0/0] (-2)
[
o/
ASBR2
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Fist Try, FirstFss!

RR Configuration:

router bgp 100

neighbor IBGP peer-group
neighbor IBGP route-reflector-client
neighbor 10.1.1.1 remote-as 100
neighbor 10.1.2.2 remote-as 100
neighbor 10.1.3.3 remote-as 100

= router bgp 100
neighbor 10.1.1.1 next-hop-self
neighbor 10.1.2.2 next-hop-self
neighbor 10.1.3.3 next-hop-self

router bgp 100
neighbor IBGP update-source Loopback0

router bgp 100
neighbor IBGP next-hop-self

router bgp 100

neighbor 10.1.1.1 peer-group IBGP
neighbor 10.1.2.2 peer-group IBGP
neighbor 10.1.3.3 peer-group IBGP

Option A
Option B
Option C
Option D

00>

Answer: D

QUESTION 370

Braindump2go Guarantee All Exams 100% Pass

One Time!

Refer to the exhibit. The network administrator configured the Chicago router to mutually redistribute the LA and
NewYork routes with OSPF routes to be summarized as a single route in EIGRP using the longest summary mask:

LAN Segments

LAN Segments
172.16.8.0/24 172.16.4.0/24
172.16.9.0/24 172.16.5.0/24
172.16.10.0/24 172.16.6.0/24
172.16.11.0/24 172.16.7.0/24

oa\(2) OSPFAral (1) 5 (1) EGRP (2)

P Ly

€0/0 0/ £}
10.1.1.0/24 10.1.2.0/24
LA NewYork

router eigrp 100

redistribute ospf 1 metric 1010 10 10 10
router ospf 1

redistribute eigrp 100 subnets

1

interface E 0/0

ip summary-address eigrp 100 172.16.0.0 255.255.0.0

After the configuration, the New York router receives all the specific LA routes but the summary route.
Which set of configurations resolves the issue on the Chicago router?
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[y interface E 0/1
Ip summary-address eigrp 100 172.16.0.0 255.255.0.0

interface E 0/1
ip summary-address eigrp 100 172.16.8.0 255.255.252.0

router eigrp 100
summary-address 172,16.8.0 255,255.252.0

router eigrp 100
summary-address 172,16.0.0 255.255.0.0

Option A
Option B
Option C
Option D

o0w»

Answer: B

QUESTION 371

Refer to the exhibit. An engineer must configure DMVPN Phase 3 hub-and-spoke topology to enable a spoke-to-spoke
tunnel.

Which NHRP configuration meets the requirement on R6?

w
LAY

L L))

CD

192.1.10.0/24

(c0/0)
w b Lo
M 00 {on)—
’: —Quz.x.zo.ozza st

192.1.30.0/24
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Fist Try, FirstFss!

Interface Tunnel 1

ip address 192.168.1.1 255.255.255.0
tunnel sourcee 00

tunnel mode gre multipoint

ip nhrp network-id 1

interface Tunnel1

ip nhrp authentication Cisco123
ip nhrp map multicast dynamic
ip nhrp network-id 1

ip nhrp holdtime 300

ip nhrp redirect

interface Tunnel1

ip nhrp authentication Cisco123
ip nhrp map multicast dynamic
ip nhrp network-id 1

ip nhrp holdtime 300

ip nhrp shortcut

Interface Tunnel 1

ip address 192:168.1:1 255.255.255.0
tunnel source e 01 _

tunnel mode gre multipoint

ip nhrp network-id 1

ip nhrp map 192.168.1.2 192.1.20.2

Option A
Option B
Option C
Option D

o0 w>

Answer: B

QUESTION 372
Refer to the exhibit. An engineer implemented CoPP to limit Telnet traffic to protect the router CPU. It was noticed that

the Telnet traffic did not pass through CoPP.
Which configuration resolves the issue?
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A VAL _ AV AL wi /WA
N fizes —— mm«\[} /m.um 10113724 [\
M L 3]
i3 acten st extended TTNCT T YT .
Baenet 1022 :'::;”:"""'("”m perm g hest 10224 hen 10111 e et Tirrg 101 11 . Opeo
Tryng 10221 .. Open permt s best 10113 hoit 10226 ¢4 tenet
v Accens Veresmon | | Semce-peley it COPP class map match af TEANET jERere 1
A Class mag: TEMET (match o 'nmuwmmﬂuﬂ Usetname b
Passment T et paicy map (0PF Usemame 3o
s § mite offeredrate 000 ox, drop rte 0000bgs | |1 S0 L :‘.‘""
| Manch sccesy growp name TELNET f
leg 0 N police BO0O conform action tranumt mnmm’!
| Rishow e vty 04
Myl TuRe AMeodem RolyAccOAC Uses Wana Overrum ind
i 2y M o0 0
{* v 1 PL - oW
|y oo R 00
$vIY <AV TR 0 0 ok
VY - s .- 0000
]
policy-map COPP
class TELNET -
police 8000 conform-aefion transmit exceed-action transmit
@olicy-m-pCOPP
class TELNET

police 8000 conform-action transmit exceed-action transmit violate-action drop

ip access-list extended TELNET
permit tcp host 10.2.2.1 host 10.2.2.4 eq telnet
permit tcp host 10,1.1.1 host 10.1.1.3 eq telnet

ip access-list extended TELNET
permit tcp host 10.2.2.4 host 10.2.2.1 eq telnet
permit tcp host 10.1.1.3 host 10.1.1.1 eq telnet

Option A
Option B
Option C
Option D

o0w»

Answer: D
QUESTION 373

Refer to the exhibit. An engineer implemented CoPP but did not see OSPF traffic going through it.
Which configuration resolves the issue?
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e
—
PIET - @ s OSPF Area 0 -
R m.n_w 10311726 K%
\\
= s o o ==
RLOLhOw DUACY- Map COMol pany P
Control Mare
4 P scoens-But oxtendod OSM
*z:“”“‘;’;‘.":‘:ﬁ:“l permit 050l hast 10.3.3 4 host 1051 3
ou‘mlwm 0 eons pormit 6epf host 10.1.1 3 host 1022 ¢
y 1
S mincte oftered rete CO00 bos, drog rete 0000 e "
Match: access-growg name OSPF v mah match- 4l O
police ‘mt:hx(n'mwmﬂ
¢ $000 bps, B¢ 1500 by
u‘mmmﬂ;mnn nb’::-. 2O pl?:::o": Se
o tromma e pokce $000 condorm-action tranuet  paceed-actian Sransmit

| 1M show i eief neighbor

Imm 1D M Ste Cead Time  Address wrertace
{10313 1 FALEOR 0003 10113 Erherneln/O
(10224 1 fUL/BCE  000OM 10224 fohernelty)

ip access-list extended OSPF
permit ospf any any

policy-map COPP
class OSFP
police 8000 conform-action transmit exceed-action transmit violate-action drop

control-plane
service-policy input COPP

class-map match-all OSFP
match access-group name OSPF

Option A
Option B
Option C
Option D

00>

Answer: B

QUESTION 374

An engineer must override the normal routing behavior of a router for Telnet traffic that is destined to 10.10.10.10 from

10.10.1.0/24 via a next hop of 10.4.4.4 which is directly connected to the router that is connected to the 10.1.1.0/24
subnet.

Which configuration reroutes traffic according to this requirement?
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access-list 100 permit tcp 10.10.1.0 0.0.0.255 host 10.10.10.10 eq 23
!

route-map POLICY permit 10

match Ip addreas 100

wot ip next-hop recursive 1044 4

access-list 100 permit tcp 10.10.1.0 0.0.0.255 host 10,10.10.10 eq 23
!

route-map POLICY permit 10

match ip address 100

sot ip next-hop 10444

route-map POLICY permit 20

access-list 100 deny tcp 10.10.1.0 0.0,0.255 host 10.10.10.10 vq 23
!

route-map POLICY permit 10

match ip address 100

sot ip next-hop 104 4.4

route-map POLICY permit 20

acceas-list 100 parmit tep 10.10.1.0 0.0.0.255 hodt 10.10.10.10 q 23
!

route-map POLICY permit 10

match ip address 100

set ip next-hop recursive 1044 4

route«map POLICY permit 20

Option A
Option B
Option C
Option D

o0 w>

Answer: B

QUESTION 375
Refer to the exhibit. An engineer must redistribute networks 192.168.10.0/24 and 192.168.20.0/24 into OSPF from

EIGRP. Where the metric must be added when traversing through multiple hops to start an external route of 20. The
engineer notices that the external metric is fixed and does not add at each hop. Which configuration resolves the issue?

EIGRP 10
192.168.10.0/24

192.168.20.0/24
192.168.30.0/24
192.168.40.0/24
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R2(confin)#access.dist 10 perinit 192.168.10.0 0.0.0.255
R2(config)faccess-list 10 parmit 192.168.20.0 0.0.0.255
'

RZ(config)#route-map RD permit 10
R2(config-route-map #match ip address 10
R2(config-route-map J#set metric 20
R2(config-route-map j#set metric-type type-2
|

‘RZ(con()g)Moutor ospl 10
R2(config-router j#redistribute eigrp 10 subnets route-map RD

R2(configj#access-list 10 permit 192.168.10.0 0.0,0.255
R2(config)#access-list 10 permit 192.168.20.0 0.0.0.255
]

R2(config)#route-map RD permit 10
R2(config-route-map #match ip address 10
R2(conflig-route-map J#set metric 20
R2{config-route-map J¥set metric-type type-1
]

R2(conlig)#router ospf 10 I
R2(config-router ¥redistribute eigrp 10 subnets route-map RD'

R1(configj#access-list 10 permit 192.168.10.0 0.0.0.255
R1{config)#access-list 10 permit 192.168.20.0 0.0.0.255
'

R1({config)#route-map RD permit 10
R1{config-route-map J#¥match ip address 10
R1{config-route-map)¥set metric 20 &
R1(config-route-map j#set metric-type typos
'

R‘l(cmng)#roum ospf 10
R1(config-router #redistribute eigrp 10 subnets route-map RD

R1(config)#access-list 10 permit 192.168.10.0 0.0.0.255
R1(config)#access-list 10 permit 192.168.20.0 0.0.0.255
'

R1{conng)#route-map RD permit 10
R1(config-route-mapj#match ip address 10
R1{config-route-map j#set motric 20
R1{config-route-map)#set metric-type type-2
'

R1(config)#router ospf 10 )
R1{config-router jredistribute eigrp 10 subnets route-map RD

Option A
Option B
Option C
Option D

o0 w®»

Answer: B

QUESTION 376
An administrator attempts to download the pack NBAR?2 file using TFTP from the CPE router to another device over the

GiO/0 interface.
The CPE is configured as below:
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hostname CPE

!

ip access-list extended WAN

<..>

remark => All UDP rules below for WAN ID: S420T92E35F99
permit udp any eq domain any

permit udp any any eq tftp

deny udp any any

!

interface GigabitEthernet0/0
<.>

ip access-group WAN in
<..”

!
tftp-server flash:pp-adv-csr1000v-1612.1a-37-53.0.0.pack

The transfer fails. Which action resolves the issue?

Change the WAN ACL to permit the UDP port 69 to allow TFTP

Change the WAN ACL to permit the entire UDP destination port range
Shorten the file name to the 8+3 naming convention.

o0w»

Answer: B

QUESTION 377
What is an MPLS LDP targeted session?

label distribution session between non-directly connected neighbors
LDP session established by exchanging multicast hello packets

00>

Answer: C

QUESTION 378

Make the permit udp any eq tftp any entry the last entry in the WAN ACL.

session between neighbors that are connected no more than one hop away
LDP session established between LSRs by exchanging TCP hello packets

Fist Try, Firsthuss! Braindump2go Guarantee All Exams 100% Pass

One Time!

Refer to the exhibit. An administrator configures a router to stop using a particular default route if the DNS server
8.8.8.8 is not reachable through that route. However, this configuration did not work as desired and the default route
still works even if the DNS server 8.8.8 8 is unreachable. Which two configuration changes resolve the issue? (Choose

two.)

ip sla 1

icmp-echo 8.8.8.8

threshold 1000

timeout 2000

frequency 5
ip sla schedule 1 life forever start-time now
'

track 1 ip sla 1
'

ip route 0.0.0.0 0.0.0.0 203.0.113.1 name ISPl txack 1l
ip route 0.0.0.0 0.0.0.0 1

0
0 198.51.100.1 name ISP2 Erack 1l

moow»

Configure two static routes for the 8.8.8.8/32 destination to match the IP SLA probe for each ISP.
Associate every IP SLA probe with the proper WAN address of the router.

Reference the proper exit interfaces along with the next hops in both static default routes.

Use a separate track object to reference the existing IP SLA 1 probe for every static route.

Use a separate IP SLA probe and track object for every static route
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Answer: AE

QUESTION 379

Refer to the exhibit. A network administrator must block ping from user 3 to the App Server only. An inbound standard
access list is applied to R1 interface G0/0 to block ping. The network administrator was notified that user 3 cannot even

ping user 9 anymore.

)\ BraindumpQ

Fist Try, FirstFss!

Braindump2go Guarantee All Exams 100% Pass

Where must the access list be applied in the outgoing direction to resolve the issue?

192.168.5.50/24

R2 interface G1/0
R2 interface GO/0
SW1 interface G1/10
SW1 interface G2/21

00>

Answer: D

QUESTION 380

Refer to the exhibit. Refer to the exhibit. A network engineer receives a report that Spoke 1 users can perform bank
transactions with the server located at the Center site, but Spoke 2 users cannot. Which action resolves the issue?

User 9

172.16.90.6/24

10 G221 L 8G1/10

Abp Server
10.30.2.100/24

Spoke 1
LR E

EQ0

1090 18024

Aron 2

3 Wa
Spoxo 2

Contu

2254

EO137

3 o4

Aroa U

B(oonfig-if)# do sh run int ¢0/1 | b int
Blconfig-4if)# interface Ethernet0/1
Blconfig-if)§ ip address 78.1.1.8 255 255.255.0
Blconfig-if)# ipvé enable

Blconfig-if)# ospfvd 1 ipvd area 1

Clconfig)# interface Ethernet0/1.78
Cloonfig-subif)§ encap dotlq 78
Clconfig-subif)# ip add 78.1.1.7 255,255.255.0
Cleconfig-subif)§ ospfvd 1 Lpvd area 0

D{config-1if)# do sh run int ¢0/1 | b int
Diconfig-if)# intexface Ethernetl/1
Diconfig~if)# no ip address
Di{config-if)# ipvé address 37::3/64
Diconfig~if)§ ipvé enable

Di{config-if)# ipve ospf 1 area 0

A. Configure the Spoke 2 users IP on the router B OSPF domain
B. Configure encapsulation dotlq 78 on the router C interface.
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C.

D. Configure OSPFv2 on the routers B and C interfaces

2 \Braindumpg 7o

Fist Try, FirstFss!

Configure IPv6 on the routers B and C interfaces

Answer: C

QUESTION 381
Refer to the exhibit. An engineer configured route exchange between two different companies for a migration project
EIGRP routes were learned in router C but no OSPF routes were learned in routerA. Which configuration allows router

A to receive OSPF routes?

Braindump2go Guarantee All Exams 100% Pass

EIGRP 10 OSPF 10

&S B B

&

Router A Router B Router C

(config-router-af#redistribute ospf 10 1000000 10 256 1 1500

(config-router-af-lopology)#redistribute ospf 10 metric 1000000 10 256 1 1500

(config-router-af-topology jZredistribute connected

(config-router-af-lopology #no redistribute ospf 10 match external 1 external 2 metric 1000000 10 255 1 1500

00>

Option A
Option B
Option C
Option D

Answer: B

QUESTION 382

A network administrator cannot connect to a device via SSH. The line vty configuration is as follows:

One Time!
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e Bra'ndumpZ@@

Fist Ty, Firsthuss! Braindump2go Guarantee All Exams 100% Pass

One Time!

linevty0 4

location S421T50E27F86
session-timeout 10
transport preferred ssh
transport input all
transport output telnet ssh
stopbits 1

Which action resolves this issue?

Increase the session timeout
Change the stopbits to 10.
Configure the transport input SSH
initialize the SSH key

o0w»

Answer: D

QUESTION 383
Refer to the exhibits. London must reach Rome using a faster path via EIGRP if all the links are up but it failed to take
this path. Which action resolves the issue?

—_—————_
London - “show ip route” output
Gateway of last resort is not set

172.1.0.0/16 is variably subnetted, 5 subnets, 2 masks

c 172.1.11.0/24 is directly connected, Ethernet0/0

L 172.1.11.1/32 is directly connected, Ethernet0/0

c 172.1.12.0/24 is directly connected, Ethernet0/1

L 172.1.12.1/32 is directly connected, Ethernet0/1

D 172.1.13.0/24 [90/76800] via 172.1.11.2, 00:00:50, Ethernet0/0
172.16.0.0/16 iz variably subnetted, 8 subnets, 2 masks

Cc 172.16.1.0/24 is directly connected, Loopback(

L 172.16.1.1/32 is directly connected, Ethernet0/0

(o 172.16.2.0/24 is directly connected, Loopbackl

L 172.16.2.1/32 is dire(tly connected, Loopbackl

R 172.16.3.0/24 [120/1] via 172.1.11.2, 00:00:08, Ethernet0/0

R 172.16.4.0/24 [120/1) wvia 172.1.11.2, 00:00:08, Ethernet0/0

D 172.16.5.0/24 [90/156160] via 172.1.12.3, 00:00:50, Ethernet0/1

D 172.16.6.0/24 [90/156160) via 172.1.12.3, 00:00:50, Ethernet0/1

Rome - "show run | section router” output

router eigrp 111
network 172.1.0.0
network 172.16.0.0
no auto-summary
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)\ BraindumpQ)
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First Try, Firsthass!
One Time!
LAN Segments LAN Segments
172.16.1.0/24 172.16.3.0/24
172.16.2.0/24 172.16.4.0/24
A (1) 172.1.11.0/24 (2) ;’ T ——
London l'\_.’oOIo ALY

100 Mbps

172.1.12.0/24 172.1.13.0/24
e0/0 0/
v

(3 2% 13

Barcelona

LAN Segments
172.16.5.0/24
172.16.6.0/24

Increase the bandwidth of the link between London and Barcelona

Use the network statement on London to inject the 172 16 X 0/24 networks into EIGRP.
Change the administrative distance of RIP to 150

Use the network statement on Rome to inject the 172 16 X 0/24 networks into EIGRP

o0

Answer: D

QUESTION 384
Refer to the exhibit. The company implemented uRPF to address an antispoofing attack. A network engineer received a

call from the IT security department that the regional data center is under an IP attack. Which configuration must be
implemented on R1 to resolve this issue?
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Braindump2go Guarantee All Exams 100% Pass
One Time!

Fist Try, FirstFss!

Rittshow cef inter e0/0

Ethernet0/0 is up {if_number 3}
Corresponding hwidb fast_if_number 3
Corresponding hwidb firstsw->if_number 3 ISP-A
Internet address is 209.165.200.226/30
ICMP redirects are always sent
Per packet load-sharing is disabled
IP unicast RPF check s enabled £0/1
Input features: uRPF
IP policy routing is disabled R3
<Qutput Omitted>

Eo/o
R1
E0/1

R1#sh cef interface e0/1 SPB

Ethernet0f1 is up {if_number 4)
Corresponding hwidb fast_if_number 4
Corresponding hwidb firstsw->if_number 4
Internet address is 209.165.201.2/30 £0/1
ICMP redirects are always sent
Per packet load-sharing is disabled
IP unicast RPF check is disabled R4
IP policy routing is disabled

<Dutput Omitted>

Regional Data Center

interface ethernet0/0
ip verify unicast reverse-path

interface ethernet0/1
Ip verify unicast reverse-path

interface ethernet0/1
ip unicast RPF check reachable-via any allow-default allow-self-ping

interface ethernet0/0
Ip unicast RPF check reachable-via any allow-default allow-self-ping

Option A
Option B
Option C
Option D

oO0w»

Answer: B

QUESTION 385
What is a function of BFD?

peer recovery after a Layer 3 protocol adjacency failure

peer recovery after a Layer 2 adjacency failure

failure detection independent of routing protocols and media types
failure detection dependent on routing protocols and media types

00>

Answer: D

QUESTION 386
Refer to the exhibit. AS 111 mut not be used as a transit AS, but ISP-1 is getting ISP-2 routes from AS 111.

Which configuration stops Customer AS from being used as a transit path on ISP-1?
300-410 Exam Dumps 300-410 Exam Questions 300-410 PDF Dumps 300-410 VCE Dumps

https://www.braindump2go.com/300-410.html



https://www.braindump2go.com/
https://www.braindump2go.com/
https://www.braindump2go.com/300-410.html
https://www.braindump2go.com/300-410.html
https://www.braindump2go.com/300-410.html
https://www.braindump2go.com/300-410.html
https://www.braindump2go.com/300-410.html
https://www.braindump2go.com/
https://www.braindump2go.com/

72)Braindump) o1

Fist Try, FirstRuss| Braindump2go Guarantee All Exams 100% Pass
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AS 1000 -
(.10) /2 (10)
N
Internet Cloud
192.168.101.0/24 \{2.168.102.0124

AS 100 (3 ot \( 2) AS 200
ISP-1 '\:i ) g (}( | IsP-2
N\ /2

192.168.11 .01\24\ A1 68.12.0/24

AS 111
E00N\ /" E 0N

(111) XN (111)
Customer Edge

ISP-1

ip as-path access-list 1 permit "“111
!

router bop 100

neighbor 192.168.101.10 r te-as 1000
neighbor 192.168.11.111 rem&te-as 111
neighbor 192.168.11.111 filter-list 1 in

ip as-path access-list 1 permit *$

ip as-path access-list 1 permit_111_
ip as-path access-list 1 permit."

ip as-path access-list 1 permit *111$

oow>

Answer: A
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